

۱۴، ۳، ۱۱، ۲۳

۲۳

هانی کویلیان

دوازدهم رشتہ A

(۱۴

سوال چار

$$y + ax = 2 \xrightarrow{m=4} \text{مائل} , f(4) + f'(4) = -1$$

$$y = -am + 2$$

$$\left. \begin{array}{l} f(4) = -4a + 2 \\ f'(4) = -a \end{array} \right\} \Rightarrow \begin{array}{l} -4a + 2 - a = -1 \\ -5a = -3 \end{array}$$

$$a = \frac{3}{5} \Rightarrow f'(4) = -\frac{3}{5}$$

$$y = \frac{x+a}{v}$$

$$\Rightarrow \frac{ax-1}{x_m-1}$$

(۵
سوال
پنج

۱) نقطہ سائل این دو بار فقط جواب مشترک داشته باشد

$$\frac{x+a}{v} = \frac{ax-1}{x_m+1} \Rightarrow (x+a)(x_m+1) = v(ax-1) \Rightarrow$$

$$x_m^2 + (14-7a)x + 12 = 0 \Rightarrow \Delta = 0 \Rightarrow (14-7a)^2 - 4(2)(12) = 0 \Rightarrow (14-7a)^2 = 144$$

برای صاف بودن

$$\Rightarrow (14-7a)^2 = 144 \Rightarrow \begin{array}{l} \text{① } 14-7a = 12 \rightarrow a = \frac{2}{7} \\ \text{② } 14-7a = -12 \rightarrow a = 4 \end{array}$$

چون نقد در صورت سوال
در احوال
در احوال منقصات

$$x_0 = \frac{7a-14}{4}$$

$$x_0 = 2$$

$$a = 4$$

Date:

Sub:

$$g(u) = f(\tan^r u + \sqrt{r} \cos u)$$

والجواب

$$g'\left(\frac{\pi}{r}\right) = \sqrt{r} \quad f'(r) = ? \quad u(u) = \tan^r u + \sqrt{r} \cos u \Rightarrow$$

$$g(u) = f(u(u)) \Rightarrow g'(u) = f'(u(u)) \cdot u'(u) \Rightarrow u\left(\frac{\pi}{r}\right) \Rightarrow \tan\left(\frac{\pi}{r}\right) = 1$$

$$\cos\left(\frac{\pi}{r}\right) = \frac{\sqrt{r}}{r}$$

$$u'\left(\frac{\pi}{r}\right) = (1)^r + \sqrt{r} \cdot \frac{\sqrt{r}}{r} = 1 + 1 = 2 \Rightarrow g'\left(\frac{\pi}{r}\right) = f(r) \cdot u'\left(\frac{\pi}{r}\right)$$

$$\Rightarrow u'(u) = \tan^r u + \sqrt{r} \cos u \Rightarrow \frac{d}{du} (\tan^r u) = r \tan^{r-1} u \sec^2 u$$

$$\frac{d}{du} (\sqrt{r} \cos u) = -\sqrt{r} \sin u \Rightarrow u(u) = r \tan^{r-1} u \sec^2 u - \sqrt{r} \sin u$$

$$\Rightarrow u = \frac{\pi}{r} \Rightarrow \tan \frac{\pi}{r} = 1 \quad \sec \frac{\pi}{r} = \frac{1}{\cos \frac{\pi}{r}} = \sqrt{r} \Rightarrow \sec^r \frac{\pi}{r} = r$$

$$\sin \frac{\pi}{r} = \frac{\sqrt{r}}{r} \quad u\left(\frac{\pi}{r}\right) = r(1)(r) - \sqrt{r} \cdot \frac{\sqrt{r}}{r} = r - 1 = r$$

$$g'\left(\frac{\pi}{r}\right) = f'(r) \cdot r \Rightarrow \sqrt{r} = r f'(r) \rightarrow \boxed{f'(r) = \frac{\sqrt{r}}{r}}$$

$$f(u) = \frac{1 + \cos^r u}{r - \cos^r u} \xrightarrow{\cos u = t} f(t) = \frac{1 + t^r}{r - t^r}$$

(r) والـ

$$g(u) = \frac{r}{r - \cos u} \Rightarrow g(t) = \frac{r}{r - t}$$

$$\frac{d}{du} f(t) = f'(t) \cdot t'$$

Elipon

Date:

Sub:

$$t = -\sin u \Rightarrow f(u) = -\sin u f(t)$$

$$g(u) = -\sin u g(t)$$

$$f(u) - r g(u) = -\sin u (f(t) - r g(t)) \xrightarrow{t \rightarrow 0} f(t) = \frac{1+t^r}{r-t^r} \Rightarrow f'(t) =$$

$$\frac{r t^r (r-t^r) - (1+t^r)(-r t^{r-1})}{(r-t^r)^2} = \frac{r t^r - r t^{2r} + r t^{r-1} + r t^{2r-1}}{(r-t^r)^2} = \frac{r t^r + r t^{r-1} - t^{2r}}{(r-t^r)^2}$$

$$f'(t) = \frac{r t^r + r t^{r-1} - t^{2r}}{(r-t^r)^2}$$

$$g(t) = \frac{r}{r-t} = r(r-t)^{-1}$$

$$g'(t) = \frac{r}{(r-t)^2}$$

$$u = \frac{\sqrt{r}}{y}$$

$$\cos u = -\frac{\sqrt{r}}{y} \Rightarrow t = -\frac{\sqrt{r}}{y} \quad \sin u = -\frac{1}{y}$$

$$f - r g = -\sin u (f(t) - r g(t)) = \frac{1}{y} \underbrace{(f(t) - r g(t))}_{-1} = -\frac{1}{y}$$

$$f(u) = |r_u - r| \sqrt{a u} \quad u = \frac{r}{r}$$

$$r_u - r = 0 \rightarrow u = \frac{r}{r}$$

$$r < u < \frac{r}{r} \quad \text{ست} \quad \text{ست}$$

$$|r_u - r| = r_u - r \Rightarrow f(u) = (r_u - r) \sqrt{a u}$$

$$\Rightarrow r_u - r = 0 \rightarrow f(u_0) = 0 \rightarrow f + (u_0) = (r) \sqrt{a u_0}$$

Elipon

ست عیب $m < \frac{3}{2}$

$$|f_m - f| = -(f_m - f) = f - f_m$$

$$f(m) = (f - f_m)\sqrt{a_m} \Rightarrow f_-(m) = (-f)\sqrt{a_m}$$

اختلاف سببها

$$|f_+ - f_-| = |f\sqrt{a_0} - (-f\sqrt{a_0})| = 1\sqrt{a_0}$$

جایگزینی $a_0 = \frac{3}{2}$

$$1\sqrt{a_0} = 2\sqrt{f}$$

$$1\sqrt{a \cdot \frac{3}{2}} = 2\sqrt{4} \Rightarrow 2\sqrt{a} = 2\sqrt{4} \rightarrow 2\sqrt{a} = \sqrt{4} \Rightarrow 4(a) = 4$$

$$4a = 4$$

$$a = \frac{1}{4}$$

$$f(m) = m^r + am - b \quad u = r \quad b - a = ?$$

جواب

$$f(r) = 0 \Leftrightarrow \text{مقاله } n = r \text{ فقط}$$

$$f(r) = r^r + ra - b = 0 \Rightarrow 1 + 2a - b = 0 \Rightarrow b = 1 + 2a$$

$$f(m) = m^r + a \Rightarrow f(r) = r(r) + a = 0 \Rightarrow 12 + a = 0 \Rightarrow a = -12$$

$$b = 1 + 2(-12) = -23$$

$$b - a = -23 - (-12) = -11$$

(V) Job

$$\sin t \sim t$$

$$1 - \cos u \sim \frac{u^2}{2}$$

$$f(n) = \sin^n(n^p) \Rightarrow n \rightarrow \infty \Rightarrow \sin(n^p) \sim n^p$$

$$f(n) \sim (n^p)^n = n^{pn}$$

$$f(n) = n \sin^{n-1}(n^p) \cos(n^p) \cdot p_n$$

$$\cos(n^p) \sim 1 \quad \sin(n^p) \sim n^p \quad f(n) \sim n(n^p)^{n-1} \cdot p_n = p_n n^{pn-1}$$

$$f(n) f'(n) \sim n^{p_n} \cdot p_{n-1} n^{p_{n-1}-1} = p_{n-1} n^{p_n-1}$$

$$(1 - \cos u)^m \sim \left(\frac{u^2}{2}\right)^m = \frac{u^{2m}}{2^m}$$

$$\frac{f(n) f'(n)}{(1 - \cos u)^m} \sim \frac{p_n n^{p_n-1}}{u^{2m} / 2^m} = p_n 2^m n^{p_n-1-p_m}$$

$$p_n - 1 - p_m = 0$$

$$p_m = p_n - 1 \Rightarrow m = p_n - \frac{1}{p}$$

$$p_n p^m = p \sqrt{p}$$

$$p_n \cdot p^{p_n - \frac{1}{p}} = p \sqrt{p}$$

$$p_n \cdot \frac{p^{p_n}}{\sqrt{p}} = p \sqrt{p}$$

$$p_n p^{p_n} = p \sqrt{p}$$

$$n p^{p_n} = p \sqrt{p}$$

$$n = p \Rightarrow m = p_n - \frac{1}{p} = p - \frac{1}{p} = \left(\frac{p}{p}\right)$$

$$m + h = \frac{p}{p} + p = \left(\frac{11}{p}\right)$$

Date:

Sub:

$$f(n) = \frac{\sqrt{n} + 1}{\sqrt{n} - 1}$$

$$(f^{-1})(a) = \frac{1}{f(n_0)}$$

(1) Jg

$$f(n_0) = a$$

$$\frac{\sqrt{n} + 1}{\sqrt{n} - 1} = r \quad t = \sqrt{n}$$

$$\frac{t+1}{t-1} = r \quad t+1 = r(t-1)$$

$$\boxed{t=r}$$

$$n_0 = t^2 = 9$$

$$t = \sqrt{n}$$

$$f = \frac{t+1}{t-1}$$

$$\frac{df}{dt} = \frac{(t-1)(t+1)}{(t-1)^2}$$

$$= \frac{-1}{(t-1)^2}$$

$$\frac{dt}{dn} = \frac{1}{2\sqrt{n}} = \frac{1}{2t}$$

$$f(n) = \frac{dt}{dn} \cdot \frac{dn}{df} = \frac{-1}{(t-1)^2} \cdot \frac{1}{2t} = \frac{1}{t(t-1)^2}$$

$$\Rightarrow f(9) = \frac{1}{3(3)^2} = \boxed{-\frac{1}{18}}$$

$$(f^{-1})(r) = \frac{1}{f(9)} = -\frac{1}{18}$$